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Question No. 1

g & o & IR AT Tl & TAT TR ¥ TR 35 ST B AT Fel Sl §72
A)3ifFarg (Afflux) B)¥ &I
C)31fATST=T (Scour) D) fFerais

The heading up of water above its normal level while passing under the bridge is known as-

A) Afflux B) Free board
C)Scour D)Clearance
Answer Key : A Your Response : A (Correct)

Question No. 2

AT T (passive sensor) T IYAT AT gl
A)TrafAee TRl ¥ Aeoe arer {eatar B)SHRI 39T Fail BT 81T &
C)Fall i & &7 # ¥ D)3l & HId & & & Foll BT T

A passive sensor uses:

A)Signals emitted from transmission towers B) Its own source of energy
C)Sun as the source of energy D)Flash light as a source of energy
Answer Key : C Your Response : C (Correct)

Question No. 3

ffaf@a & ¥ =i @1 egHeiss el TEEewdr (HDFC) d« g@nr Refia frar s=r ar?
A)AJIT B)IRA 2.0
C)KEMPA D)MITRA

Which of the following humanoid robots was developed by the HDFC bank?

A)AJIT B)IRA 2.0
C)KEMPA D)MITRA
Answer Key : B Your Response : Not Answered

Question No. 4
IR (moorings) 4T Yeld T S §7
A)STETSIl &hr Thier & forw B)Sfersit 3R fRualst #ir gors & faw
C)stersit 1 Wiaeht g & o o & o D)SigTSit &l AFAd & foiT

Why are moorings provided?

A)For anchoring of ships B) For washing of ships and ship boards
C)For towing the ships to the sea D)For repair of ships
Answer Key : A Your Response : Not Answered

Question No. 5
frdr aIger A T (column) F T F fBomger W §HY, 3ifasdr FUfaAr (end conditions) -
A)Teh TRT there g1aTm & 3R q@Rr far am gl 81 B)aket R fiherw gl €1
C)ush faRT ftherqr gl & 3R q@<r faRT Gell 11 €1 D)alet Y hesil & wA gl &



While designing the pile as a column, the end conditions adopted is -

A)One end fixed and other end hinged B) Both ends fixed
C)One end fixed and other end free D)Both ends hinged
Answer Key : A Your Response : C (Wrong)

Question No. 6
fArfaf@a & ¥ sla & FAE TRT Wi (text font) F wIfAT & Far &7
INEIESS B)gcfars
C)sles D)37stelige

Which of the following commands does not affect the text font?

A)Borders B) Italics
C)Bold D)Underline
Answer Key : A Your Response : D (Wrong)

Question No. 7
fAerfaf@a & ¥ fFae aRa F 239 q&7 A IGFT F T F TR T60T Far?
A)TEHH B)geiter 3r1sT
C)3re AR SAfd D)3NH JehIRT 1

Who among the following assumed charge as the 23rd Chief Election Commissioner of India?

A)Nasim Zaidi B) Sunil Arora
C)Achal Kumar Jyoti D)Om Prakash Rawat
Answer Key : B Your Response : B (Correct)

Question No. 8
o7 #$ s, qEt s i Fag W oFar ¢, af sH AfT F RAT F@ arer e F FAT FaT AT 82
A)sedle TY0T (Rolling friction) B)[EeRdeg u¥uT (Electrostatic friction)
C)&df &9ur (Sliding friction) D)¥dfa® =vur (Static friction)

When one body rolls over the surface
of another body, the resistance to its

motion is called-

A)Rolling friction B) Electrostatic friction
C)Sliding friction D)Static friction
Answer Key : A Your Response : A (Correct)

Question No. 9

gl § FieT AT YT T &2

RS AT qHE-

A)IT & 45° feam F Af¥ehdH gt gl B)3Hs IsT o HAIAR feom & fRFkan g gl
C)Tefr feemstt & gaART g1 B D)3 & oiaad feem & f¥ead g &1

Which of the following is the correct statement?

The strength of timber :

Top



A)ls maximum in the direction 45° to the grain B)Is maximum in the direction parallel to the grain
C)Remains same in all directions D)Is maximum in the direction perpendicular to the
grain

Answer Key : B Your Response : B (Correct)

Question No. 10
IAF & NG 1 3EgTT a0 & o Flr Ager W Rya aag & gwlRad &= & Qv v [ffse air
e W 3o fagga T RfEoT A aafhar # =T Fer S 82

A)7gger R#Are G (Neutral remote sensing) B)R&Are A (Remote sensing)
C)afra RaAre ¥ (Active remote sensing) D)fafSsra RaAe dffer (Passive remote sensing)

The interaction of the electromagnetic radiation produced with a specific wave length to illuminate a target

on the terrain for studying its scattered radiance, is called:

A)Neutral remote sensing B) Remote sensing
C)Active remote sensing D)Passive remote sensing
Answer Key : C Your Response : B (Wrong)

Question No. 11

fe Fiegw d@&ar 2, @ 93T ¥ @ are ga T Yag geend (laminar) 1
A)> 2000 B)< 4000
C)> 4000 D)< 2000

If Reynolds number is , then the flow of fluid through a pipe is laminar.

A)> 2000 B)< 4000
C)> 4000 D)< 2000
Answer Key : D Your Response : D (Correct)

Question No. 12

¥ FROT e A THgE F IFNT AR gfawia w1

A)ERdegd ol B)I&cdId sl
C)argarfaish e (Aerodynamic force) D)ATfHST Fo

The electric charges attract and repel each other due to-

A)Electrostatic force B) Gravitational force
C)Aerodynamic force D)Nuclear force
Answer Key : A Your Response : A (Correct)

Question No. 13

ar a1 ar & 310 a9 arer PRET (girders) FT AT Fgl AT §7

A)cere faREX(girder) B)dfed fAR=R(girder)
C)I=¢r AR=(girder) D)seivs ffREX(girder)

The girders having two or more than two webs are called -

A)Plate girder B) Box girder
C)Gantry girder D)Balanced girder
Answer Key : B Your Response : Not Answered

uestion No. 14
9 Top
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A)24 AT B)26 AT
C)20 AT D)22 AR

World water day is observed on -

A)March 24 B)March 26
C)March 20 D)March 22
Answer Key : D Your Response : D (Correct)

Question No. 15

[ THR F ae FERT 49, St o @ AR Fua i qow @ O R F e § 37 w0 oFa
ST 82

AR 3 urser 318aX B) 3T SIRET Uigel 38ax
C)ersgifersh Iigel /3’ D)CFA - &&eg31d Fellse 3R

The old type of Pile Driving Equipment which is banned in most countries due to heavy sound and vibration

is called as -

A)Hammer Driven Pile Driver B) Augur Boring Pile Driver

C)Hydraulic Pile Driver D)CFA - Continuous Flight Augur

Answer Key : A Your Response : Not Answered
Question No. 16

IAQ &7 31 & 87

A)SARTR 3fhcaFarel FaTforer B)SEIRIX Wehusieraar ararforer

C)38R W Fdrfoier D)$SR TIX Faifeer

IAQ means -

A)Interior Architectural Quality B) Interior Airconditioning Quality

C)Indoor Air Quality D)Indoor Air Quantity

Answer Key : C Your Response : C (Correct)
Question No. 17

FRC # 9g&d HIgeR HI o e ST g

A)gfadae gaele (Secondary reinforcements) B) e fz=mRide

C)Fer gaief=T (Slender reinforcements) D)gwR Js=hrdee

Fibres used in FRC are also called as -

A)Secondary reinforcements B) Slim reinforcements
C)Slender reinforcements D)Super reinforcements
Answer Key : A Your Response : C (Wrong)

Question No. 18
M s & 0T & fAT wed wafcad YR HT R Foe & FiT AT 82
A)STT R B)VSI &
C)TeT W D)@l R

The best type of crusher for manufacturing M Sand is -
A)Jaw Crusher B) VSI Crusher
C)Roll Crusher D)Cone Crusher
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Answer Key : B Your Response : Not Answered

Question No. 19

HRT & T IU-TUAHAT it A7
A)RITAT 3Tel Fhelld 3TTSlle B)B.R. 385
C)®eR Felca g D)TER TocldTdTs ucol

Who was the first Deputy Prime Minister of India?

A)Maulana Abul Kalam Azad B)B.R. Ambedkar
C)Sardar Baldev Singh D)Sardar Vallabhbhai Patel
Answer Key : D Your Response : D (Correct)

Question No. 20
were #r At Farg s ¥ P ¥ qanT g Fr ST 87
A)(u? sin2a)/2g B)(u? cos?a)/2g
C)(u? sin2a)/g D)(u? cos2a)/2g

The maximum height of a projectile is given by-

A)(u? sinZa)/2g B) (u? cos?a)/2g
C)(u? sin2a)/g D)(u? cos2a)/2g
Answer Key : A Your Response : A (Correct)

Question No. 21
9F FfFEee Fd, A W F eI T A5 H 7% Bl ¢, O Bt o [ F Siw o Jaa o (smooth
curve) @iaet & fT ARl & AIST ST HHaT §, 3/ FAT FeT AT §72
A)TT FFARR B)ha &hd
C)Ther D)f3arsst

A flexible curve consists of a lead bar inside rubber which bends conveniently to draw a smooth curve
through any set of points. Which of the following drawing aid is this?

A)Set square B) French curves
C)Scale D)Divider
Answer Key : B Your Response : B (Correct)

Question No. 22

&Y 3T & (trusses) F &I FT T FgelraT gl
A)TYST (Span) B)deeT (Panel)
C)R=r (Pitch) D)¥ (Bay)

The space between two adjacent trusses is called-

A)Span B) Panel
C)Pitch D)Bay
Answer Key : D Your Response : B (Wrong)

Question No. 23
FE T°F & 3caias 7 e, I IR AR F S ua gar 82
A)ad 3 B)ad 1

C)ast 4 D)ger 2 Top



In which of the classes of lever is fulcrum placed between effort and load?

A)Class 3 B)Class 1
C)Class 4 D)Class 2
Answer Key : B Your Response : Not Answered

Question No. 24
fArfaf@a F & i ar gRefadr dam (utility program) T 3emeor 872
A)TEaRRE ArFea] B)WISel ShedereT
C)fashedt & & Tofr D)seasdh Helok

Which of the following is/are an example of utility program?

A) Antivirus software B) File Compression
C)All of the options D)Network Managers
Answer Key : C Your Response : Not Answered

Question No. 25
RMC @fET & didie 3l war$ oer 3R 3 Wiie g afal i §ala e & fT wged 98 3R &
o AT SR HeeRl a1 gl ST 87
A) AT B)&L Feddy
C)arsalr D)&haX

The large steel cylindrical metal containers used in RMC plants used for storing cement and/or fly ash and
such cementitious materials are named as -

A)Mixer B) Screw Conveyor
C)Silo D)Scraper
Answer Key : C Your Response : A (Wrong)

Question No. 26
foret wge fr A 7 & W §1 I WA A IRIEar k $HE 3R A Wa 7 aResgar 5k 3@ g1 I
gt qal @ Ales FAR §, af FtaeR fer & sea aresar @ fifcw)
A)3k SFIS B)(5/3) k s&TS
C)(5/6) k 3&TS D)(6/5) k 3&TS

Soil at a site consists of two layers. The top layer has permeability k units and bottom layer has permeability
5k units. If the thickness of both the layers is equal, then what is the average permeability in the vertical

direction?

A) 3k units B) (5/3)k units

C)(5/6)k units D)(6/5)k units

Answer Key : B Your Response : B (Correct)
Question No. 27

forely aREIeT & fATor amTa & 3o # e gl &1

A)faswedr 7 & gafr B)39aUT UG 3G g8 oldld

C)%# g AT T« derd D)&HeR I oITeT

A project construction cost estimate includes the-

A)All of the options B) Equipment and over head cost

C)Labour and material cost D) Profit of the contractor Top



Answer Key : A Your Response : A (Correct)

Question No. 28

vefaarh Rgia gauas # Oer T ar A

A)FIeY diethre B)3call APR & WUl W IAST TUH ARSI
TFAeTT
C)faT=m FFae D)g2dl RI@x @FA (The Earth Summit)

The precautionary principle was first introduced in-

A)Kyoto protocol B) The First International Conference on Protection of
the North Sea

C)Vienna convention D)The Earth Summit

Answer Key : B Your Response : D (Wrong)

Question No. 29
S § FleT A gl Fr FARY FIRCAT Y g FA AT WHwaT 872
A)UTST FT 3EeT=T B) feedesT fshar
C)TeT 3TIR D)fS13itense gfshar

Which of the following is the process of removal of permanent hardness of water?

A)Boiling of water B)Filtration process
C)Lime treatment D)Zeolite process
Answer Key : D Your Response : D (Correct)

Question No. 30
AT F ¥ FlT T NAFd, RN g Wb TsH (higher level protocol address) I fhfSiehel sicas w3q
(physical network address) & URafdd et & AT IccRegRT &7

A)RaE tga Rdiegda Werhie (RARP) B)seeey ekl (BOOTP)
C)ugH Redegws wielnliel (ARP) D)3exaAT held AT Wbl (ICMP)

Which of the following protocols is responsible for converting higher level protocol addresses to physical
network addresses?

A)Reverse Address Resolution Protocol (RARP) B)Bootstrap Protocol (BOOTP)
C)Address Resolution Protocol (ARP) D)Internet Control Message Protocol (ICMP)
Answer Key : C Your Response : Not Answered

Question No. 31

FHETeT AT FT TF 3EEIT B

A) 3 (Non-magnetic) B)@iledssha (Ferromagnetic)
C)9fardeehrar (Diamagnetic) D)3fTdsshra (Paramagnetic)
Cobalt is an example of a _____ material.

A)Non-magnetic B) Ferromagnetic
C)Diamagnetic D)Paramagnetic

Answer Key : B Your Response : Not Answered

Question No. 32
Iy 91 & aI9A &, ar F T 2l
A)fRATR & TR B)feHies W
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C)fgATsh & &% IW D)fg#T & &HA

Formation of snow occurs if the cloud temperature is:

A)Equal to the freezing point B) At the freezing point
C)Just above the freezing point D)Below the freezing point
Answer Key : D Your Response : A (Wrong)

Question No. 33
SRS 9 (carriage way) & 3Tacd g I 4T Fgl ST &2
A)FR Tellder B)shT3el
C)dsR D)afste

The highest point on a carriage way is known as-

A)Super elevation B) Crown
C)Camber D)Gradient
Answer Key : B Your Response : B (Correct)

Question No. 34

Ase JdfFT F v, g Fr ¥ Ve Far e 2l
A)drer B)&the,
C)elrel D)exr

For night landing, the runway threshold lights are lighted-

A)Yellow B) White
C)Red D)Green
Answer Key : D Your Response : Not Answered

Question No. 35
3EIT STZHCH U HETIh 390N (aids) FT A1H FAI0]
A) T (FE TFARR) B)fdsredr & & el
C)cFIeicH D)grgaT ofic

Name the drawing instruments and aids.

A)Set squares B) All of the options
C)Templates D)Drawing sheet
Answer Key : B Your Response : B (Correct)

Question No. 36

"SfeRr aney ot Fu vfaf@a @ @ e @9 & T ven fRar s 87

AR BT B)afeT dsfic
Cyfee et D)Aferr B

For which of the following games is the "Indira Gandhi Gold Cup" awarded?

A)Women's hockey B) Women's badminton
C)Women's football D)Women's cricket
Answer Key : A Your Response : A (Correct)
Question No. 37 Top
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A)6=PL3 / 34EI B)5=PL3 / 3EI
C)6=PL3 / 5EI D)5=PL3 / 365El

Find the deflection of the free end of a cantilever beam carrying a concentrated load P at the free end.

A)6=PL3 / 34EI B)6=PL3/ 3EI
C)5=PL3/ 5El D)6=PL3/ 365ElI
Answer Key : B Your Response : B (Correct)

Question No. 38
EOT sheT &7 T 31w &2
A)galiFesh 3ates gaferer B)US 3UeT <189
C)&dr 3iTerT esy D)3y Hfd M@ ¢ ¢u

EOT crane means-

A)Electric Overhead Travelling B)End Open Type
C)Easy Operation Type D)Earth moving Overhand Truck type
Answer Key : A Your Response : A (Correct)

Question No. 39

SAFCle ST WeT SaRT fr 1§ A
A)sired dg B)aMesEelet
C)J. aisfas D)J.J. AT HET

Electron was discoveredby ______
A)Neils Bohr B) Goldstein

C)J. Chadwick D)J.J. Thomson
Answer Key : D Your Response : D (Correct)

Question No. 40
i Rl soe #F AdSifeeh S SR JUTell 3Uesy Agr §, ar eifuret § e arer 3ARSe S #r
T = F AU g T &7 39T fRar Jrar 82
A)3iates ¢h B)aftesw &
C)dTeersT (Sump) D)¥RS &&

In case public drainage system is not available in a locality, then the structure used to store waste water
from toilets is:

A)Overhead tank B) Septic Tank
C)Sump D)Storage Tank
Answer Key : B Your Response : B (Correct)

Question No. 41
g #r garT fr gar$ SR It waeh Tt H T R F e Fe F v sgE Rty
qd8ToT (triaxial test) 3o1 ¥ ey @T &7
A)CU udrayor B)3ishdlloIaes 38 ¢¥C
C)UU wdraror D)CD udafor

Which of the following is the appropriate triaxial test to assess the immediate stability of an unloadingp
problem, such as an excavation of a clay slope?



A)CU test B)Unconsolidated drained test
C)UU test D)CD test
Answer Key : C Your Response : A (Wrong)

Question No. 42

qE A 10010 HF 1- [H gl
A)01101 B)01111
C)11101 D)10101

The 1's complement of binary number 10010 is-

A)01101 B)01111
C)11101 D)10101
Answer Key : A Your Response : A (Correct)

Question No. 43
T Fousia Raw' e A«/r Srar g2
A)17 AT B)10 &I
C)5 &/ D)3 ART

When is 'World Wildlife Day' observed?

A)17 March B) 10 March
C)5 March D)3 March
Answer Key : D Your Response : Not Answered

Question No. 44
fAEY 1 ag IUT, TSwer aoie | HUISA I ST ST W HAGA A Foll giell &, 3/ A1 FHgl e g2
A)TRET T TgraoT B)f&EY 1 Adggar
C)fAEY & gdisa ALy D)fAET FT IRTAS TEhIOT

The property of the soil due to which a decrease in volume occurs under compressive force is known as -

A)Consolidation of soil B) Compressibility of sail
C)Compression strength of soil D)Initial consolidation of soil
Answer Key : B Your Response : B (Correct)

Question No. 45
e 3q=Ra el AT (rapid curing cutbacks bitumen) & 360° C o 3Hael W WIS 37ast &1 Hear
A (penetration value) F &g g gl
A)80 & 120 B)30 & 120
C)40 I 80 D)100 & 160

The penetration value of residue from distillation upto 360°C of rapid curing cutbacks bitumen is -

A)80 to 120 B)30to 120
C)40 to 80 D)100 to 160
Answer Key : A Your Response : Not Answered

Question No. 46
FhIC & Heerel o qdemor &, A Fuew AW 0.85 ¥ 30w AR 0.95 ¥ FH Wed @ar § o FHEiar
(workabilty) T Il gl
A)TES JreeT B) wafiet

Top



C)ATas D)3resT

In a compaction factor test of concrete, if the compaction value is less than 0.95 and greater than 0.85, then
the standard of the workabilty is:

A)Very good B) Fair
C)Medium D)Good
Answer Key : C Your Response : C (Correct)

Question No. 47

S0t ¥ FT T 1987 F 3NN W A G ¥ LT AT §2

AT ST B)FIeiotT Sietee
C)FaeY St D)Affeeaer diethler

The international protocol to protect the ozone layer in 1987 was-

A)Vienna Convention B) Cartagena protocol
C)Kyoto protocol D)Montreal Protocol
Answer Key : D Your Response : D (Correct)

Question No. 48

g |IST I WE T AT 87
A)N82C03.H20 B)N82C03
C)NaCO3.6H0O D)Nay,CO3.10H0

What is the correct formula of washing soda?

A) N62C03.H20 B) N62003
C)N62C03.6H20 D)N32003.10H20
Answer Key : D Your Response : Not Answered

Question No. 49

YaAIS HT AHS T §7?
A)m /s B)&IS AT AgT
C)m"" D)3ricex

What is the unit of refractive index?

A)m /s B)No unit
C)m” D)Dioptre
Answer Key : B Your Response : B (Correct)

Question No. 50
230 x 400 A HHR arelr TF HReeaw &IF FT FAAX T (clear span) 2.5 #Hiex § 31T I 400 x 400
A & w91 grT gAfT §) Feelar F1 wendr | = @eme?
A)2.7 #eX B)3.3 #iex
C)2.615 #Hex D)2.9 #iex

A cantilever beam of size 230 x 400 mm has a clear span of 2.5 m and is supported on a 400 x 400 mm
column. The effective span of the cantilever is-

A)2.7m B)3.3m
C)2.615m D)29m

Top



Answer Key : A Your Response : A (Correct)

Question No. 51

wie I & seateR =4 gu a7 & v, daa w1 e oty fer ¥ ferw w7 sl afevl
A)180 t B)85 t
C)250 t D)200 t

For a vertical stiffened web of a plate girder, the lesser clear dimension of the panel should not exceed:

A)180 t B)85t
C)250 t D)200 t
Answer Key : A Your Response : A (Correct)

Question No. 52
sonel &7 faETSer R af & ey gam A
A)1905 B)1904
C)1902 D)1903

When did the partition of Bengal come into effect?

A)1905 B) 1904
C)1902 D)1903
Answer Key : A Your Response : A (Correct)

Question No. 53

Tal (trusses) & ofist Fr A arelr @, FHgele gl
A)THE TS B)R<r @sd
C)era arseT D)4 ase

A line joining the vertices of the trusses is called-

A)Sky line B)Ridge line
C)Top line D)Peak line
Answer Key : B Your Response : B (Correct)

Question No. 54

e FFafeaat § Ao SAeRAT & AT gl ST Bl

A)URBS-FC (I caRd) 3Heure (Acid-test (or quick) B)¥UT 3ieldral (Debts ratio)
ratio)

C)dref 3equrd (Current ratio) D)cReldr 3e1drd (Liquidity ratio)

The ratio of current assets to current liabilities is known as:

A)Acid-test (or quick) ratio B) Debts ratio
C)Current ratio D)Liquidity ratio
Answer Key : C Your Response : Not Answered

Question No. 55

Hdrsaar(Compressibility) & YA Bl
A)VIRIRTTT & 33Tdel Aie (Bulk modulus of B)TcaRYIaT & Tedr &AM (Rigidity Modulus  of
elasticity) elasticity)

C)IcIRYdT & 39¥90T AME (Shear modulus of D)JT Jcaeddr A (Young's modulus of elasticit-yz)p

elasticity)



Compressibility is the reciprocal of -

A)Bulk modulus of elasticity B) Rigidity Modulus of elasticity
C)Shear modulus of elasticity D)Young's modulus of elasticity
Answer Key : A Your Response : A (Correct)

Question No. 56
e ar ofSier (edging) # aviorer F ey ¥ ek fhe a1w 3t i = w1 ST 872
A)STel AT (Water proofing) B)STeifaramas &g (Weep hole)
C)aX & &g (Edge hole) D)% (Hole)

The rain waterholes in the parapet or in edging is called as-

A)Water proofing B) Weep hole
C)Edge hole D)Hole
Answer Key : B Your Response : B (Correct)

Question No. 57
A& (Triad) &1 @ fras @rRT 2 = ar?
AT FgeisH B)g=Ir Ao
C)D.I. #sell@ D)J.W. S8R

The Law of Triad was given by-

A)John Newlands B)Henry Moseley
C)D.I. Mendeleev D)J.W. Dobereiner
Answer Key : D Your Response : D (Correct)

Question No. 58

ffaf@d & ¥ Fi 9 TE-aRRy WiFeaaT 74 &2
A)McAfee B) 3iIehel
C)hEuEHT D)arcaT

Which of the following is NOT an anti-virus software?

A)McAfee B)Oracle
C)Kaspersky D)Norton
Answer Key : B Your Response : B (Correct)

Question No. 59
Tg fY, e Al 1 o 7 F AegA § vafea BRr Siar § 3R agEfod §9 @ 359 397 F 9 qae
W Ve P Srar g, @ganrd gl
A)RIFHT B)arfeifRtar
C)ashifear D)erTEe

A method in which mortar conveyed through a hose and pneumatically projected
at a high velocity onto a surface is called-

A)Ferrocement B) Varnishing
C)Concreting D)Gunite
Answer Key : D Your Response : D (Correct)

T
Question No. 60 op



0 & P9 &9 A FRUC TRAT F AT € R S1ar 82
A)9ar gar &l B)fasredl & & st
C)earst 3R 3=g G TG & WrI-A1Y ARt D)RTAS, e AR & &l

Which of the following areas is/are NOT included in the Carpet area?

A)Entrance gate B) All of the options
C) The walls along with doors and other openings D)Verandah, corridor and passage
Answer Key : B Your Response : B (Correct)

Question No. 61

A U AEfaf@a # ¥ e Q@ ¥ w&Efta 82
A)STEhesior B)ae®h
C)ferehe D)%edlel

With which of the following sports is Mithali Raj associated?

A)Basketball B) Golf
C)Cricket D)Football
Answer Key : C Your Response : C (Correct)

Question No. 62
@ wfasfo e 3, 3= A3 dhic T 39ART F4T R ST 872
ATt deeTefierdr arelr dshle gred Hi & fov B)fete=t g gred &hdel & forw
C)3ed IR aTell Fhshlc Yo Hlel o o D)gd gfdsfad gifar @ AT #ter & fav

In pre-stressed concrete, high grade concrete is used for -

A)Having concrete of low ductility B)Having Low creep
C)Having concrete of high brittleness D) Controlling the pre-stress loss
Answer Key : B Your Response : B (Correct)

Question No. 63

et 14 & g wHR F1 AR scafia aar &2
A)drer B) 37t
C)amaT D) ashedr 7 & @l

Which type of radiation is emitted from Carbon 14?

A)Beta B)Alpha
C)Gamma D)AIl of the options
Answer Key : A Your Response : Not Answered

Question No. 64
2019 #, RBI @ SRPHi T YR fram, Wt qUT &9 T 8?2

AT 3T Reo ddie RET 31w sf3ar B)&d 3T & Y3 gfaeereT 3w gfsar
Cc)ad 3t Rea e gfoey 3w 3aw D)&d 30 Rewr 9die gfdew 30w safassea

In 2019, RBI launched SRPHi, which stands for:
A)Survey on Retail Payment History of India B) Survey on Rural Poor Habitation of India
C)Survey on Retail Payment Habits of Indians D)Survey on Retail Payment Habits of Individuals Top

Answer Key : D Your Response : Not Answered



Question No. 65
fdr 3 sl 97 I« S FEAEIRE IR FRET T ¥ AfaRaddr # #igg § 3R S B F W Ak PEw
HiSE 8 W 7T 9 F A A AT ST Fehall §, 3H FIT gl Sl §7
A) TSI STl B)HeFd STel
C)®raReT arex D)& T STer

The water in the soil which is in excess of the hygroscopic and capillary water and which can move freely
downwards when the soil is porous and drainage available is called-

A)Hygrosopic water B) Free water
C)Firing water D)Capillary water
Answer Key : B Your Response : B (Correct)

Question No. 66

e faeaor & gy 3mepr faeRor RAfEr (moment distribution method) FT HTA AT ST
Hah Bl

A faTamasr fafer (Displacement method) B)saTs fafer (Unit method)

C)si=gar faf¥r (Flexibility method) D)sar [af&r (Force method)

The moment distribution method in structural analysis is also called as-

A)Displacement method B) Unit method
C)Flexibility method D)Force method
Answer Key : A Your Response : A (Correct)

Question No. 67

ffaf@a & ¥ e 399T 39 99 fo@ar & o fRar srar g2
AYHTTP B)HTML
C)FTP D)URL

Which of the following is used to write web pages?

A)HTTP B)HTML
C)FTP D)URL
Answer Key : B Your Response : B (Correct)

Question No. 68

3R 37T T 3UANT I5Ad HEAT YOSl H g

A)3, 4 B)1, 2

C)o, 1 D)0, 9

The digits used in a binary number systemare _and ___.

A)3, 4 B)1,2

C)0,1 D)0, 9

Answer Key : C Your Response : C (Correct)
Question No. 69

FISSU Tl A  yeitia fmam e

A)dAT FT IFHER TF TS B)&RYT wRAT

C)sita &1 Sars D)fsier oraer &7 waTS

Top



Foundation plan will show -

A)Size and depth of foundation B)Carpet area
C)Height of foundation D)Length of plinth level
Answer Key : A Your Response : D (Wrong)

Question No. 70
3R e, arg b sl & wfdfhar =& FElfas s s §)
A)FIET AAIFESS B)fasedl & & @i
C)&IeT SE3TFAES D)TasT

and water in the air react together to form carbonic acid.

A)Carbon monoxide B) All of the options
C)Carbon dioxide D)Carbon
Answer Key : C Your Response : Not Answered

Question No. 71
59 & 5 YR fr od & a4t emsit 7 o g & 3R v R F e F v 9% @ar 872
A)dFsa &6 B)F IS ¥
C)RT &% D)dee &%

Which of the following is the type of roof which slopes in two directions with a break in the slope on each
side?

A)Gambrel roof B)Mansard roof
C)Hip roof D)Gable roof
Answer Key : A Your Response : Not Answered

Question No. 72
ARl # & w8 FUaT 1 T8 F
AR IFIcTTEAT, 37 IVIAT Theilenl &I Uk B)fashenl # & @sfr
UHT HAE &, S IR JAAIST P W T
C)goNfeaRer rdcuasrar, & fAvia-agras 3uawvr g, D)Soifaafer 3rdcaaeer &I adsl & fau, afFa &
ora® ganr el Bt & g Ferdr [ & Jqa esaaer iR srdcaear # Ao ATURomH
®q H AT ST I galieh] el A TETH gleT AR

Pick up the correct statement from the following.

A)Engineering economy is a collection of B)All of the options
mathematical techniques which simplify economic
comparisons

C)Engineering economy is a decision assistance tool D)For understanding the engineering economy, one
by which one method will be chosen as the most  should be able to classify the basic terminology and
economical one fundamental concepts of economy

Answer Key : B Your Response : B (Correct)

Question No. 73
g & fRd 2004 #F qteaRoT HRETOT F AR % AT Alger «ifd qRER § wEAIAa R = ar
A)TdsT eTeT B) @Y HUTS
C)S.D. §r D)3T. AdART &g
Top



The Nobel Peace prize for contribution towards environmental conservation in 2004 was awarded to-

A)Ratan Tata B) Wangari Maathai
C)S.D. Bush D)Dr. Manmohan Singh
Answer Key : B Your Response : Not Answered

Question No. 74

Wt @sr F sy Roaw #r sify FRF FT B
A)TATTREECHTS SR B)TaR wefaqr waie
C)Rerst D)efFaereT

Gypsum used in cement manufacturing acts as a/an-

A)Plasticizer B) Air entraining agent
C)Retarder D)Accelerator
Answer Key : C Your Response : C (Correct)

Question No. 75
Y R & gFEA Tged (Glazed tiles) T $et & 39T # %A #RIe (Facing material)
& T F Ac I Fhe a1 o A F e B s g
A)FAS IT dshie ST RS & aryr s SET B)fSih S5 371%eR AT
C)EH o8 AFaAY D)se, s IT shehie IfhaT RS & AT Tkl BidaT

Special types of glazed tiles or bricks are used as facing material for the rubble or concrete or brick backing
in-

A)Brick facing with Rubble or Concrete backing B)Brick backed Ashlar masonry

masonry
C)Random Rubble masonry D)Stone facing with Brick, Rubble or Concrete backing
masonry
Answer Key : A Your Response : Not Answered

Question No. 76
TR fAdSeT (town planning) 3 i ¥ JET FRE FT FATIH AT 7 @ ST AMRT?
A)eraramTehT B) T foiehrar Ud @iEehicieh faReT
C)3-arRf&ufashr (Ecology of land) D)aTAI S 3TaeTHhTd

The main factor to be considered first in town planning is-

A)Topography B) Governing body and cultural heritage
C)Ecology of land D)Society needs
Answer Key : A Your Response : D (Wrong)

Question No. 77

R 9 F e AT & a9AE B T Bl dE gem & AT naeTyF FAT f AT Fr FT T
ST §?

A)faferse FsAT (Specific Heat) B)dm w&R (Thermal expansion)

C)ardrr gfadel (Temperature stress) D)STerdistsl AT (Heat of hydration)

The quantity of heat required to raise the temperature of unit mass of a material by one degree centigrade is

called-

A)Specific Heat B) Thermal expansion Top



C) Temperature stress D)Heat of hydration

Answer Key : A Your Response : A (Correct)

Question No. 78
e &l Iraemsit F v w3, Y & wer F Rer Rffa 3R TemaR IR SeR arelr et Fr R wer
ST 82
A)fEerawra (Slipform) B)f&AareT 7 (Myvan form)
C)di¥c WA (Lost forms) D)g&T &9 (Tunnel form)

The special formwork without support from ground, used for constructing tall structures and which moves
up continuously is called as-

A)Slipform B) Myvan form
C)Lost forms D)Tunnel form
Answer Key : A Your Response : Not Answered

Question No. 79
fay 3ireifs g Yo 2019 1 3eEre Fel gam aT?
A)SYEY (Tokyo) B) 2TEmS
C)a$ feoelr D)3 el

Where were the Special Olympics World Games 2019 inaugurated?

A)Tokyo B)Shanghai
C)New Delhi D)Abu Dhabi
Answer Key : D Your Response : D (Correct)

Question No. 80
FReAFeaser e aRuedr qanr Fhie & S#AE (Slump) # gfe Far &2
A)HHT HUT T Gelrerdet B)HIHAT & Ul &l F@ar
C)¥#ic wuil & uRergur 3R 3rqufet (deflocculation)  D)HIHE Uil &1 TR el

Superplasticizer increases slump of concrete due to which phenomenon?
A)Densification of cement particles B) Drying of cement particles
C)Dispersion and deflocculation of cement particles D)Deterioration of cement particles

Answer Key : C Your Response : C (Correct)

Question No. 81

ST gl fohe &1 & Feifod &7
INICEETI B)dfecT
C)wfia D)AfSEar

With which of the following fields is Zakir Hussain associated?

A)Painting B) Literature
C)Music D)Sculpture
Answer Key : C Your Response : C (Correct)

Question No. 82
&Y gole W FFAH FIETOT H TR 90T HAlS[g 8 FFherr
A)ATIET & YT Geehid gerdi i suiedfe B)deshid g$ I aTelcl olafeiar
Ol (Pivot) R g§ & aor D)TE & Yoehed T g1y

Top



Local attraction in compass surveying may exist due to-
A)Presence of magnetic substances near the B)Incorrect levelling of the magnetic needle

instrument
C)Friction of the needle at the pivot D)Loss of magnetism of the needle
Answer Key : A Your Response : A (Correct)
Question No. 83
el 3rrex & Pt #r SiEar gl
A)T-TFaRR 3R dT Toad B)f3arssx 3k &urw
C)Shaehd 3R wrdfeher D) dsedr 7 & @l

Mini drafter combines the functions of-

A)T-square and Set squares B) Divider and Compass
C)FrenchCurve and Procircle D)All of the options
Answer Key : D Your Response : B (Wrong)

Question No. 84

ST @ FleT A1 W & AT G ST 3urT €T 82
A)STS el ithar B)wers arel
C)3taRiersT §f8sT (Detention basins) D)31d<1 (Elevation)

Which of the following is NOT a flood proofing measure for houses?

A)Dry flood proofing B) Flood walls
C)Detention basins D)Elevation
Answer Key : C Your Response : D (Wrong)

Question No. 85
s R S -HTE (aggregate cement) 3urd ¥ fAT, Il weher seili-diie diie equrd # B SaT
W?W#WWWWWM&&W#WWWWWWW
A)Ere STTaT B)3ed RN W Ao Xar §
C)3mfkafda wgem D) STuam

For a constant aggregate cement ratio, if the coarse aggregate is increased at the expense of sand,
maintaining total aggregate cement ratio constant, then the total surface area of the aggregate is -

A)Reduced B) Depends on Other factor
C)Remains Unchanged D)Increased
Answer Key : A Your Response : A (Correct)

Question No. 86

M BTG & AR & IHeFT-37e7T HIT a5l Asiqrh @, af 3e¢ & &9 # 9Rafda frar ser =ifge
A T B)&T Wi
C)fegT Yoe D)aarss picar

If two individual footings are too close as per design, then they should be converted as-

A)Mat raft B) Strap footing

C) Strip raft D)Combined footing

Answer Key : D Your Response : D (Correct) Top



Question No. 87
ICAO #r pRiwmit F AR, MSL & 3 ffyd @@ F fAT 314 UK (elevation correction) Hr &I T
Y4
AIMSL & IR YT 3eatgal &1 9fd 300 HeX Fa15 B)MSL & IR YT 3eaga Hr ufad 100 #Hex &

R 2% FE W 1%
C)MSL & 3R f&ud 3vaga7 i ufd 500 #ex Fa1$ D)MSL & FW YT 3ea1ga &7 ufd 300 #Hex Fars
R 2% W 7%

According to ICAO recommendations, what is the rate of elevation correction for the runway above MSL?

A)2% for every 300 m of elevation above MSL B) 1% for every 100 m of elevation above MSL
C)2% for every 500 m of elevation above MSL D)7% of every 300 m of elevation above MSL
Answer Key : D Your Response : D (Correct)

Question No. 88
Fe-Ahfad R & HehaT VT L arelr v aruner §AT 7 w1 FAT fFeoer 24 el g1 @ wede Regat
(supports) T gdT AT HfATI
A)(48/L) YfzTeT B)(36/L) Yfu=
C)(24/L) YT D)(72/L) ¥f¥Ter

In a simply supported beam of span L subjected to central concentrated load, the central deflection is 24

mm. Then the slope at supports is:

A)(48/L) radians B)(36/L) radians
C)(24/L) radians D)(72/L) radians
Answer Key : D Your Response : D (Correct)

Question No. 89

facchar faemor st & &= AUiRa = 7 Age F=war 872

A)wH Fr facdir Rufa B)wa &I aRaree gatar iR wa & facda Rufa gt
C)®H Fr kATl gardr D)a dF e &I aRarere gardr AR o & ® H facd
feafa

The financial analysis helps to judge:

A)The financial position of the firm B)Both the operational efficiency of the firm and the
financial position of the firm

C) The operational efficiency of the firm D)Neither operational efficiency of the firm nor
financial position of the firm

Answer Key : B Your Response : B (Correct)

Question No. 90
Sta fafauar glewgic i 3@URT & yfaues Sl &2
A) Tt sreed B)dred SridsT
C)ATH=T & Iw D)fsheei fRacerR

Who introduced the concept of biodiversity hotspot?
A)Christopher Columbus B) Charles Darwin
C)Norman Myers D)Christoph Schwitzer

Answer Key : C Your Response : Not Answered Top



Question No. 91

e, T, s, wader IR T Akl e Ter & glew Sed €7
A)STFH TT HFHR B)gsTTe

C)RAre weer D)gRrom

Through which state do the rivers Chenab, Ravi, Beas, Sutlej and Yamuna flow?

A)Jammu & Kashmir B) Punjab
C)Himachal Pradesh D)Haryana
Answer Key : C Your Response : C (Correct)

Question No. 92
aYor Fr IoiE ¥ TFT A g arelr M g Hr o FEF g@nr Fr a2
A)srdt &1 e B)sTT-dietash THauT (Darcy-Weisbach equation)
C)atr gifa D)3l FT e

The loss of head in pipe due to friction is calculated by-

A)Darcy's law B) Darcy—Weisbach equation
C)Energy loss D)Chezy's law
Answer Key : B Your Response : B (Correct)

Question No. 93
$IH ¥ fFE AT FT ToS FAEOT AR 2019 & AN $RA F Fallftsh F@eo WX & § & [Epd
T?
A)AFT B)SaN

C)31gHcrG D)3ifser X

To which of the following cities was Swachh Survekshan Award 2019 for India's cleanest city given?

A)Mysore B)Indore
C)Ahmedabad D) Ambikapur
Answer Key : B Your Response : B (Correct)

Question No. 94
el ATYUT F FROT 3cTosT Tl H FAT FHl AT 82
A)319&quT gfdde (Shear stress) B)@dis gfdeel (Compressive stress)
C)3meAH=AT ufaser (Flexural stress) D)deadr gfdsdel (Tensile stress)

The stresses caused by the bending moment is called -

A)Shear stress B) Compressive stress
C)Flexural stress D)Tensile stress
Answer Key : C Your Response : C (Correct)

Question No. 95
RS 1 39T 399 ¥ Fad A & v frar sar 87
AT B) AT
C)3ier (Odour) D)&oRaT

Tintometer is used to measure- Top

A)Colour B) Temperature



C)Odour D)Hardness

Answer Key : A Your Response : A (Correct)

Question No. 96

fRefaf@a & ¥ i a1 3P (estimate) TaTAF ARawaTr 8ar &2
A)TaEdT 3Tehels (Detailed estimate) B)TeY &athel T 3Tehelel (Plinth area estimate)
C)ge &Y 3iTeheld (Cube rate estimate) D)IRTAe® 3Mehelel (Preliminary estimate)

Which of the following is the most reliable estimate?

A)Detailed estimate B) Plinth area estimate
C)Cube rate estimate D)Preliminary estimate
Answer Key : A Your Response : A (Correct)

Question No. 97
At R AR oy vF od W & v Fifaw "7 160 kN §1 A% FA TS F7 sEE QET e & R
I w6 & v y2er B a7, o wifas 9 feaer geme
A)80 kN B)320 kN
C)160 kN D)40 kN

The critical load for a long column with both ends fixed is 160 kN. If the same section is to be used for
another column of double the length, the critical load is:

A)80 kN B)320 kN
C)160 kN D)40 kN
Answer Key : D Your Response : D (Correct)

Question No. 98

TR fasor gehfaafier &, HMA a@s a7 &1 qu a6 = 872

A)gTs fAed WEwlec Tale B)gic fAed Whiec Tolic
C)elec ew vsfAsam D)glc fAsw waiele o

In Highway Construction engineering, the equipment HMA means -

A)Hard Mix Asphalt Plant B) Hot Mix Asphalt Plant
C)Hot Mix Admixture D)Hot Mix Aggregate Plant
Answer Key : B Your Response : D (Wrong)

Question No. 99

& 71§ 3T ¥ 39 g A gft, Bw W Ay F qof e Fr FRa AT I 8, 39 T FT AT 872
A)ufkeaor 35ar (Radius of gyration) B)&facar sisca 3mget (Second moment of area)
C)Tscd 3TguT (Moment of inertia) D)gea AT STscd HTHUT (Mass moment of inertia)

The distance of a point where the whole area of a body is assumed to be concentrated from a given axis is

called-

A)Radius of gyration B) Second moment of area
C)Moment of inertia D)Mass moment of inertia
Answer Key : A Your Response : A (Correct)

Question No. 100
oS a $r oar$ (field runway length) @ ICAO Rafader & R, ¢ 3% I (take off run) +
F @ F ST AT g



A)LDA B)TODA
C)TORA D)ASDA

According to the ICAO specification for field runway length, take off run available is known as-

A)LDA B) TODA
C)TORA D)ASDA
Answer Key : C Your Response : Not Answered

Question No. 101

gegAe (m) 3R S (1) AT TH AT Gl U BF H SHA olals F ooad foum H sE6 Ay fig & ant

3R AT 3T AT AT Hifre]
A)2/3 ml? B)mi2/12
C)mlI%/3 D)3/4 mi2

Mass moment of inertia of a uniform thin rod of mass (m) and length (I) about its mid-point and
perpendicular to its length is-

A)2/3 mi? B)ml?/12
C)mi%/3 D)3/4 ml?
Answer Key : B Your Response : Not Answered

Question No. 102

e $r A, gaRT St Sl g
A)3TTZSiTS 3THT0T B)fa%e 3uaor
C)el-heforr 3ueshioT D)8 390l

Soundness of cement is tested by-

A)lzod apparatus B) Vicat apparatus
C)Le-chatelier apparatus D)Hopper apparatus
Answer Key : C Your Response : C (Correct)

Question No. 103
RE aTel & T &A1 3T §7?
A)I=hS 3 gt B)XfaEde 31 arer
C)Racae 7 are D)RefAaT 377 arer

RE wall means -

A)Reinforced Earth Wall B) Resistant Earth Wall
C)Revetment Earth Wall D)Retaining Earth Wall
Answer Key : A Your Response : D (Wrong)

Question No. 104

g & s ds YUY Fa 300w axdr &2
AT &Y AT & yaTg & FHROT g5 g AT g B)FUX Udlg & FRUT 83 d¢ ST ¢l
C)39Y Yalg & HRUT g8 TT AT gl D)y fr 2 & YdTg & FHRUT 85 ¢ ST ¢l

When does a quick sand condition is developed in soil?

A)Head causing downward flow is decreased B)Head causing upward flow is increased Top

C)Head causing upward flow is decreased D)Head causing downward flow is increased



Answer Key : B Your Response : C (Wrong)

Question No. 105
, Y AT & ST & ST AT YS9 JHERT e fr ufHAr gl
A)dsgfaiaT B)Teifar
C)&siar D)carfeiar

is the process of inviting bids or proposal in response to an invitation.

A)Scheduling B) Starting
C)Tendering D)Planning
Answer Key : C Your Response : C (Correct)

Question No. 106

6 e x 4 AT F IAAHR NS 34K 4 HAew x 2 Hew i T a6 HeX /Y EF F 3FAA AT AHT

(Romefir g7 7 39T F& 0T )?
A)92 #Hrex 3 B)96 #Hrex 3
C)90 #Hrex 3 D)94 #Hrex 3

What is the volume of a 6 m deep tank having rectangular shaped top 6 m x 4 m and bottom 4 m x 2m

(computed through the use of prismoidal formula)?

A)92 m? B)96 m®
C)90 m® D)94 m?
Answer Key : A Your Response : B (Wrong)

Question No. 107
VTHT & 3ART o # KT sdlidh & 3T 7 FeIT T Fa & fav fBFar s g
A)s& (Break) B)REaa (Switch)

C)aNe (Goto) D)&fe=g (Continue)

The statement is used to transfer the control to the end of statement block in a loop.
A)Break B) Switch

C)Goto D)Continue

Answer Key : A Your Response : Not Answered

Question No. 108

freafaf@a & & frw arg & Al 1 3uer 9a-eam wreRmdr F B Srar 82

Compounds of which of the following metals is used in black and white photography?

A)A B)Ag
C)Cu D)Au
Answer Key : B Your Response : Not Answered

Question No. 109
THHAT TAT9 (uniform settlement) & HS 8 a18T 3T 9T 3cUesT loT ATelT GIR I AT gl ST 872

A)TIT9A IR (Settlement crack) B)3feétd &IX (Longitudinal crack)
C)3T9®90T &IR (Shear crack) D)arefead IR (Random Crack)

Top



If there is any obstruction to the uniform settlement of hardened concrete, it forms a crack known as-

A)Settlement crack B) Longitudinal crack
C)Shear crack D)Random crack
Answer Key : A Your Response : A (Correct)

Question No. 110
fArfaf@d Fuer W BER FY AR 78 @Fed F a9 F| : 0F gad o7 F ALgadt R (support) & Faal
¥ () HER (support) I TR aTell HOMcHF MUY FH & ST g1 (i) FeR I R arell HOMcHF MOl 96
ST @1 (iii) §ER W R a1l UelcHe ATEUT HH & STam g1 (iv) BT & &g F P arer UeicHs TeuT 96
ST #
Aii 3R i TEr €1 B)ii 3T iv @Er gl
C)i 3R iii Tér g1 D)i 3R iv @Er g1

Consider the following statements:

Sinking of an intermediate support of a continuous beam
(i) reduces the negative moment at support.

(ii) increases the negative moment at support.

(iii) reduces the positive moment at support.

(iv) increases the positive moment at the center of span.

Of these statements:

A)(ii) and (iii) are correct B) (ii) and (iv) are correct
C)(i) and (iii) are correct D)(i) and (iv) are correct
Answer Key : D Your Response : D (Correct)

Question No. 111

ada &7 FT Feavor EarT fRaT ST e &1
A)3-3meeT S B)cermer fagigur fafer
C)3meet faawor fafyr D)fdsedr & & @l

Analysis of continuous beam can be done by-

A)Three Moment Theorem B) Slope Deflection Method
C)Moment Distribution Method D)AIl of the options
Answer Key : D Your Response : D (Correct)

Question No. 112
after <, mwmmgﬁ,aﬁmmaﬁ%mmﬁammﬁma:mﬁm
A T IYGRT AT ST g2
AYR1HeT a3 (Ultrasonic waves) B) 3194 dwdr (Infrasonic waves)
C)TaedIfeieh a3 (Subsonic waves) D)guEifaeh Tl (Supersonic waves)

Cleaning of hard to reach places inside a spiral tube, odd shaped parts, electronic components etc. is done

using which waves?

A)Ultrasonic waves B) Infrasonic waves
C)Subsonic waves D)Supersonic waves
Answer Key : A Your Response : Not Answered
Question No. 113 Top

a9 SaT &, 59 Qd YHRT H TAF o7 DA 7 TF 3eler AT )| 3qafdd g gl



A)EFeH B)%@T widfes

=<

C)IT JaR D)oty

A is formed when each colour of the white light is refracted in the prism at a different angle.
A)Spectrum B) Colour image

C)Colour spread D)Rainbow

Answer Key : A Your Response : A (Correct)

Question No. 114
o fhel a&g A @R R S g, ar -
A)3" TT EAT Ueh T 1Y T gl B)Tg g & Fr 3R S &1
C)Tg A FW & AN e B D)aE A2 gt & 3R e ¥

When an object undergoes acceleration-

A)A force always acts on it B) It always moves down
C) It always moves up D)It always falls towards the earth
Answer Key : A Your Response : A (Correct)

Question No. 115

AgEISteT WHATIRHT & 0.5 HIel FT FGeaAET AT |
A)14 T B)7 A
C)70 I\ D)21 T

What is the mass of the 0.5 moles of Nitrogen atoms?

A)l4g B)74g
C)70g D)21g
Answer Key : B Your Response : B (Correct)

Question No. 116
fArfaf@a § & fFa ke RBES & 3l 2019 #F ANET ke Fag (MCC) & HWG 3Mohad TG &
& enfAer fFar
A)SSTHATA-31-geh AR AR ST gir B)ATh a3
C)fatre @rgelr D)ESTATA-3e1-gh

Which of the following cricketers was/were inducted as the Honorary Life Members of the Marylebone
Cricket Club (MCC) in April, 2019?

A)Both Inzamam-ul-Haq and Mark Boucher B)Mark Boucher
C)Virat Kohli D)Inzamam-ul-Haq
Answer Key : A Your Response : Not Answered

Question No. 117
fafaf@a & & Fla a1 seqe oy gomrr # WdeaT F FFar g, IR sHH 3udr A B | i #@t
3T F== & Qv BFar sirar 872
INCIEGR ) B)celiex
C)aArd D)SirafEes

Which of the following is an input device which can sense light, and is used to point at spots on a Vid?8p
screen?



A)Light pen B) Plotter
C)Mouse D)Joystick

Answer Key : A Your Response : A (Correct)

Question No. 118
g Wic 1 IRAF TG AT (setting time) 10 Bee §, ar s # gafipa fmam T WeRe B
A)efrgr T AT (Quick setting cement) B)Tethe T HHT (Sulphate resisting cement)
C)did shoRIuT ddHe (Rapid hardening cement) D)feteT FsAT THc (Low heat cement)

If the initial setting time of cement is 10 minutes, it can be classified as -

A)Quick setting cement B) Sulphate resisting cement
C)Rapid hardening cement D)Low heat cement
Answer Key : A Your Response : C (Wrong)

Question No. 119

1 ¥ fFE 9K &1 SfA-fAs=TewoT (land degradation) $TRa 31 3if8e d@et it Ferar §7
A)Far A9Re= (Soil erosion) B)#eT 39YURT (Soil subsidence)
C)¥F@els (Landslide) D)ssX (Desertification)

Which of the following forms of land degradation is more prevalent in India?

A)Soil erosion B) Soil subsidence
C)Landslide D)Desertification
Answer Key : A Your Response : A (Correct)

Question No. 120

FEE Yafad dshlc d, IfG Beat 8h & ¢l theldl g, dF IRUIFRGET 3T+ glel dlell TATAT S AT Hgl
ST &2

A)3cdsa (Spalling) B) 9T (Segregation)
C)&@%erel (Congestion) D)arfershraeT (Balling)

In fibre reinforced concrete, if the fibres are not dispersed properly, then the resulting problem is called as -

A)Spalling B) Segregation
C)Congestion D)Balling
Answer Key : D Your Response : C (Wrong)

Question No. 121

afger (fillet) Fr e Fars ¥ FA 6 WiRwl
A)deE & HHR & TR I B)des & IR & Teh I[AT
C)des & 3R & oliel I D)des & 3R & aF I

The effective length of fillet should be less than-

A)Four times the size of weld B) One time the size of the weld
C) Three times the size of weld D)Two times the size of weld
Answer Key : A Your Response : A (Correct)

Question No. 122
&N & HUROT &7aT IOTF B W AR wRar 32
A)FREY & THEYAT Ui 3R AN & Yok Gelcd W B)AN & ashar qunek AR A F vy g i,
0Th TN



C)dae fAgr & iale a¥or Hior W D)f#ET & 3idRe avor @or AR fia @ M@ |

Terzaghi's bearing capacity factors depend on-

A)Uniformity coefficient of soil and dry density of soil B)Coefficient of curvature of soil and bulk density of

soil

C)Angle of internal friction of soil only D)Angle of internal friction of soil and depth of
foundation

Answer Key : C Your Response : C (Correct)

Question No. 123
deT & 31efeT BREY (member) T AT gl ST &2
A)pfeaT (Footing) B)Tola
C)¥a¥ (Column) D)&reT

The member which is subjected to bending is called-

A)Footing B)Slab
C)Column D)Beam
Answer Key : D Your Response : D (Correct)

Question No. 124

ﬁmﬁmﬁagmmm#mmmﬁaﬁmmﬂﬂaﬂ gl 1T 2l
A)3EqUTcsT B)TEsTsT
C)arsdishor D)&ora (Fusion)

A change in state directly from solid to gas without changing into liquid state is called .

A)Sublimation B) Condensation
C)Vapourisation D)Fusion
Answer Key : A Your Response : A (Correct)

Question No. 125
3w yef & gHa 7 Rw 1w Sf¥er Fr AT FHgr J1ar §?
A)Ea e B)dieH oleldl Jfaar
C)elT orelal Sfdar D)qear sfder

The bracing provided in the plane of end posts is called-

A)Sway bracing B) Bottom lateral bracing
C) Top lateral bracing D)Portal bracing
Answer Key : D Your Response : Not Answered

Question No. 126

rehsiiwaTer @ (phreatic line) # Bt aitr & v @3 F i} Hisg 39 W@ & &9 F qRenRa fmar I g,
o R gl
A)FUTcA® THATAHT s (Negative equipotential B)teTlcAe gBakefces e (Positive  hydrostatic

lines) pressure)
C)uaTcAs @Afasa YWV (Positive equipotential D)FUllcA® greaieeicss & (Negative hydrostatic
lines) pressure)

Top
A phreatic line is defined as the line within a dam section below which there is/are-



A)Negative equipotential lines B) Positive hydrostatic pressure
C)Positive equipotential lines D)Negative hydrostatic pressure

Answer Key : B Your Response : B (Correct)

Question No. 127
Fa AR AT, Bl ToAET IRy Fe F Q) geF §; O s F GG REoT 7 aaT X
A)FET # 1 & IR Rl w2 Afzza B)&a 3R AMf3Tet & galieor ¥ Ffdd 1, Peurd &
ey e A Rl & muR w Al afew e
3Mpfd o 3meTiRa gl €
C)peury & aell Al fFarl W & R peury f D)AfEET v eed ved § AR Fd uw ued "ew §
aEg @ W1 Afsge

Kerb and median are two elements in a highway cross - section. Choose the correct match.
A)1 Kerb at the middle and 2 medians at the side B)Kerb and median classification names are not based

edges on position in pavement cross-section but based on
their shape
C)Kerb for both the side edges of the pavement and D)Median is a longitudinal element and kerb is a lateral
1 median at the centre line of the pavement element
Answer Key : C Your Response : C (Correct)

Question No. 128
YaIg Hicked WHIEIOT (equation of continuity) @ 8T g1
A)Y9dTg Helad glel I B)fdshedr 7 & @l
C)JaTg THHIHT gl W D)39EY TS WY AT ThEHAT gl T

The equation of continuity of flow is applicable when the-

A)Flow is steady B)All of the options
C)Flow is one dimensional D)Velocity is uniform over the cross section
Answer Key : B Your Response : A (Wrong)

Question No. 129
fArfaf@a & & fre seye RBamy #1 37T Fga & SEal # RATHT §7 & FEET W gHAe FA &
foT R Sar &2
A)FTE U B)Talle
C)ea detel D)#rars

Which of the following output devices is used for translating information from a computer into pictorial form

on paper?

A)Card punch B) Plotter

C)Touch panel D)Keyboard

Answer Key : B Your Response : B (Correct)

Question No. 130
faRrse Wz Az et # I-amfier 3R e 1 rqara frdar gar 82
A)4 B)2
C)6 D)10

What is the ratio of back-washing of filtration in a typical rapid sand filter? Top



A)4 B)2
C)6 D)10

Answer Key : C Your Response : A (Wrong)

Question No. 131

ARG ¥ faurae fr Wfa Rufa & [e, whe AR gedetor W fr Basa T # 3o == & e

IS 456: 2000 Z@RT HRIfAT HiRAF FUAT IOTH FHaA: eI gl
A)1.5 3 1.15 B)1.0 3 1.0
C)1.15 3R 15 D)1.5 3 1.0

For limit state of collapse, the partial safety factors recommended by IS 456:2000 for estimating the design

strength of concrete and reinforcing steel are respectively-

A)1.5and 1.15 B)1.0and 1.0
C)1.15and 1.5 D)1.5and 1.0
Answer Key : A Your Response : A (Correct)

Question No. 132

$HEIB &F (Imhoff cone) AN & T 39T Far S gl
A)gfard a1 (Dissolved solids) B)¥cd gl dlel a1 (Settleable solids)
C)faeifaa 3 (Suspended solids) D)&remssr o (Colloidal solids)

Imhoff cone is used to measure-

A)Dissolved solids B) Settleable solids
C)Suspended solids D)Colloidal solids
Answer Key : B Your Response : B (Correct)

Question No. 133
gt ¥ FleT AT FAIET T (absolute viscosity) R GEIATT wetca (mass density) & [T 82
A)fafarse egtetar B) 2TeTclT I[0Tish
C) ATl FIhieh D)er&atfdeh AT (Kinematic viscosity)

Which of the following is the ratio of absolute viscosity to mass density?

A)Specific viscosity B) Coefficient of viscosity
C)Viscosity index D)Kinematic viscosity
Answer Key : D Your Response : D (Correct)

Question No. 134
T dTer s dansit (ICDS) & T 3297 &7
A)ErehTeRToT B)fawedl & & @i
C)TarEey S Ud {Hiel AT D)W-Fhor it -Whlael TS[ehelel

The objectives of the Integrated Child Development Services (ICDS) are-

A)Immunization B) All of the options
C)Health check up and referral services D)Pre-school non-formal education
Answer Key : B Your Response : Not Answered

Question No. 135
gfear fr gag Fr & AT Srar §1
A)TsT B)3dT Hiex

Top



C)a« HIex D)ge ®ie

The surface of painting is measured in -

A)Tonnes B)Sg.m
C)Cu.m D)Cu.ft
Answer Key : B Your Response : B (Correct)

Question No. 136

o #r Al &t F Ranfoa & & v g W=ar # =1 Fer S §?
A)Trer Al HT (Damp proof course) B)&d (Roof)
C)dl@e (Lintels) D)®T (Floor)

The structure which is used to divide the stages in different levels is termed as-

A)Damp proof course B) Roof
C)Lintels D)Floor
Answer Key : D Your Response : D (Correct)

Question No. 137
TR T o TFE &or & 3iafter e I 37after amm & 9i?
A)STHEY B)UK
C)Saret D)@faTa @w

In which country's spacecraft did Rakesh Sharma travel into space?

A)Germany B)UK
C)Japan D)Soviet Union
Answer Key : D Your Response : D (Correct)

Question No. 138
INGEs & 38 ¥ 59 O & strarse g Sar 82
A)eldegt B)gRSET
C)3FeT D)fasheul & & Tefr

pel

In which of the following districts of Jharkhand is bauxite obtained?

A)Latehar B)Lohardaga
C)Gumla D)All of the options
Answer Key : D Your Response : D (Correct)

Question No. 139

SH ¥ PleT AT FASIAd AT &2
A)dufes B)BIY s
C)ugad D)gsr

Which of the following is a waterborne disease?

A)Tuberculosis B) Small pox
C)Anthrax D)Cholera
Answer Key : D Your Response : D (Correct)

Question No. 140 Top



Fe + CuSO4 - FeSO4 + Cu

IR AR T UF 3GT80T gl

A)31qees 3fAfHArT (Decomposition reaction) B)fawurya 31faAfsar (Displacement reaction)

C)&arster 31fAfHAT (Combination reaction) D)gfa farurgedr Hf&AfHAT  (Double  displacement
reaction)

Fe + CuSO,4 — FeSO4 + Cu

The above reaction is an example of a-

A)Decomposition reaction B) Displacement reaction

C)Combination reaction D)Double displacement reaction

Answer Key : B Your Response : B (Correct)

Question No. 141
e AT Ty IBANRF R FART werd 8 FdT Ty Agdie fodear gkl gl
A)4 B)1
C)3 D)2

The number of independent elastic constants for a linear elastic isotropic and homogeneous material is-

A4 B)1
C)3 D)2
Answer Key : D Your Response : D (Correct)

Question No. 142

qd wfaafaa sehie Saamsit 1 &7 327 FT 82

A)detel gfded IRIAT Sar B)Siler & STgl o aoiar ufdsar & 3ufeufa mfad &,
gl adise fdee @] e
C)ufkerqur (deflection) RIfAT &=1T D)3r9&9er gfded IRITT e

What is the main principle of Prestressed Concrete Structures?

A)To introduce tensile stresses B)To introduce compressive stresses in the zone
wherever tensile stresses are expected

C)To introduce deflection D)To introduce shear stress

Answer Key : B Your Response : B (Correct)

Question No. 143

o= e F | fr 3w dar eI &
A)50 & 150 #Hex B)3 & 7.5 #iex
C)30 & 80 #Hrex D)18 & 30 #Hex

In a trussed bridge, the maximum limit of span is -

A)50 to 150 m B)3to7.5m
C)30to 80m D)18t0 30 m
Answer Key : C Your Response : C (Correct)

Question No. 144

Figrrorra? fdg, ag g e @ o W 39T RIeg Sgaar gl

A)FRS 3t B) 39&T0T SoT Top



C)fasredt & & @sh D)siehel 31TEUT

The point of contraflexure is the point at which_______ changes its sign.
A)Torsional moment B) Shear force

C)All of the options D)Bending moment

Answer Key : D Your Response : D (Correct)

Question No. 145

Rae Bel & Fat F drar Frglr @ FH 6 gl Afevl
At & =am8 & 3 T B)f&al & zard & 2.5 4
C)fal & =gr| & 2 I+ D)f&el & zard & 3.5

The distance between centres of rivert holes should not be less than -

A)3 times the diameter of the holes B)2.5 times the diameter of the holes
C)2 times the diameter of the holes D)3.5 times the diameter of the holes
Answer Key : B Your Response : B (Correct)

Question No. 146

I3fET ¥ vgw FHhie T FA, FHhic A AOEET F oGy
A)SER B) efreT
C)fe=T D)uaTeq

The vibrating of the concrete before grouting makes the quality of concrete -

A)Better B) Slow
C)Low D)Fair
Answer Key : A Your Response : A (Correct)

Question No. 147

gam3it @ WA F s A Fad @R AT STdr 87
A)argaamd’r (Barometers) B)dIthe¢ AU (Beaufort scale)
C)uas I« (Wind indicator) D)féerHex (Tintometer)

The strength of winds is measured with the help of-

A)Barometers B)Beaufort scale
C)Wind indicator D) Tintometer
Answer Key : B Your Response : C (Wrong)

Question No. 148

ST FT RN FIA &, 3 Sl & AT g e &
NEcieolta B)ameT foit

C)X-fehzott D)qRTelaTelr oot

Ozone layer absorbs which are very harmful for the living organisms.
A)Infrared rays B) Gamma rays

C)X rays D)Ultraviolet rays

Answer Key : D Your Response : D (Correct)

Question No. 149

IS #3 & AR PCC 3 RCC wa=mit & fow =ysas Is e &l



A)saer: M 10 3R M 20 B)seare: M 10 3iR M 15
C)sarer: M 15 3iR M 20 D)saer: M 20 3k M 30

The minimum grades for PCC and RCC structures as per IS code is:

A)M 10 and M 20 respectively B)M 10 and M 15 respectively
C)M 15 and M 20 respectively D)M 20 and M 30 respectively
Answer Key : C Your Response : A (Wrong)

Question No. 150

farfaf@a & & a8 Fua F1 997 FY

A)faweat & & Tl B)ader &1 3mgfcd 8¢aT (Hz) & A Sl &

C)¥gicd, Th Tehs & T fARed g & IR arell D)aer &1 A, ALY f&g & sash RIGT &1 Fa18 gl
T Rt fr T g g gl

Pick up the correct statement from the following:

A)All of the options B) Frequency of a wave is measured in Hertz (Hz)

C)Frequency is the number of wave crests passing a D)Amplitude of a wave is the height of its crust from
fixed point in one second the mid-point

Answer Key : A Your Response : A (Correct)

Top



